3/23/2020 Fax



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order				
Purchase Order Date	PO/Reference No.	Revision No.		
Jan 29, 2020	AB0514898	0		

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buver Contact:

Buyer	Buyer Email	Buyer Phone Number	
jan - Nelms, Jim	janelms@tamu.edu	979.845.3819	
Customer Contact:			
Name:	Marcy Bundick		
Email:	BUNDICK@TAMU.EDU		
Phone:	+1 979-587-5465		

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/

Supplier Information		Delivery Information			
Supplier Name	TSE SYSTEMS INC	Delivery Address			
Address	186 CHESTERFIELD INDUSTRIAL CHESTERFIELD, MO 63005 US	TAMUS Member: Attn:	02-Texas A&M University (02) Marcy Bundick		
Phone	+1 866-466-8873	Whole Systems Genomic			
Fax	+1 866-467-8873	Initiatives			
FOB / FREIGHT	Destination	Reynolds Medical Bldg #440			
Pre-Pay & Add	No	Room	440		
Payment Terms	0, Net 30	1114 TAMU College Station, TX 77843-1114			
Contract Number - Header	no value	United States			
Contract Number - Line	no value	Delivery Information			
Quote number	QUO-12981-L4D8B0-0	Required Delivery Date			
		Ship Via	Best Carrier-Best Way		

Notes to Supplier

Shipping Instructions

Note to Supplier
Attachments for supplier

Line item 13 reduced to accommodate the special discount

QUO-12981-L4D8B0-...

PO Clauses

Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
	102	TAMU Terms & Conditions	Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/ From this website please select "Texas A&M University" from the drop-down menu.

3/23/2020 Fax

23/2020		rax				
Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 33	Whole Body Exposure Unit 0.6 m3	E-700200-WB- 06	EA	46,798.00 USD	2 EA	93,596.00 USD
		•				
2 of 33	Over-and Underpressure relief valve	E-700210-DV	EA	3,004.00 USD	2 EA	6,008.00 USD
3 of 33	Inner Rack for 700200-WB-06	E700210-WB- IG/06	EA	3,704.00 USD	2 EA	7,408.00 USD
4 of 33	Animal Cage Type II - Stainless Steel - Adapted for Food Basket	700210-CA- T2S-DF	EA	849.00 USD	16 EA	13,584.00 USD
		,				
5 of 33	Feeding container DRINKING/FEEDING MONITOR MOUSE Universal Container SpillProtect 100 cm3	E-259998- SEN/FED-BAS- SP-M	EA	256.00 USD	16 EA	4,096.00 USD
		ı			I	
6 of 33	Hood for aerosol and vapor generators	E-700600-WB- HOOD/DL	EA	11,231.00 USD	2 EA	22,462.00 USD
		ı	'	'		
7 of 33	Installation set for Whole Body Exposure Unit	E-700210- IS/WB	EA	7,238.00 USD	2 EA	14,476.00 USD
		I				
8 of 33	Volatile Organic Compound (VOC) Vapor Generator for generating various VOC vapors	E-700700- VOC-GEN X 01	EA	18,000.00 USD	2 EA	36,000.00 USD
		1				
9 of 33	Bypass switching valve for Aerosol, Vapor or Gas	E-700700-BSV	EA	4,038.00 USD	2 EA	8,076.00 USD
		ı				
10 of 33	High precision dosing unit for liquid aerosols. Capacity: 60ml.	E700700-DE	EA	0.00 USD	0 EA	0.00 USD
		1	I			
11 of 33	Reverse Flow Mixing Device - made of glass	E700700-GV	EA	1,115.00 USD	2 EA	2,230.00 USD
12 of 33	Glass Reverse Flow Mixing Device	E-700700- GV/X	EA	0.00 USD	0 EA	0.00 USD
12 04 22	INITIAL ANIALYCIC MC. Marro Constitution of Co	700000 845 1/	F.4	145 264 25	1.54	145 264 25
13 of 33	INHAL-ANALYSIS-MS; Mass Spectrometer for Laboratory Use; this line item adjusted in price to allow for discount.	700800-MS X 01	EA	145,261.25 USD	1 EA	145,261.25 USD
44 (22		F700 400 F7.5		20 127 27		20 125 55
14 of 33	DACO-GLP Online Control/Monitoring System for 2 Exposure Systems	E700400-PRO- C-D-GLP/2	EA	39,425.00 USD	1 EA	39,425.00 USD

3/23/2020 Fax

15 of 33	Remote Control Station for DACO	E-700400- PRO-C-D/RC	EA	3,750.00 USD	1 EA	3,750.00 USD
		'				
16 of 33	Alarm Module for DACO	E700-400- PRO-C- D/A/GSM	EA	3,938.00 USD	1 EA	3,938.00 USD
		I				
17 of 33	Differential Pressure Measuring Unit	E-700500- DM-D1	EA	1,858.00 USD	2 EA	3,716.00 USD
18 of 33	Electronic Mass Flow Controller for measuring and controlling air flow	E700500- MFC-IN-150	EA	4,838.00 USD	4 EA	19,352.00 USD
19 of 33	Electronic Mass Flow Controller for measuring and controlling air flow	E-700500- MFC-IN-150	EA	4,838.00 USD	2 EA	9,676.00 USD
		,				
20 of 33	Electronic Mass Flow Controller for measuring and controlling air flow	E-700500- MFC-OUT-150	EA	6,694.00 USD	2 EA	13,388.00 USD
		ı				
21 of 33	Temperature and Humidity Measuring Device	E-700500-T-L	EA	2,221.00 USD	2 EA	4,442.00 USD
		ı				
22 of 33	Humidity Control System for automated control of relative humidity	E-700500-KK	EA	15,000.00 USD	2 EA	30,000.00 USD
		ı				
23 of 33	Calibration Kit for sensors	E-700500-KK	EA	8,535.00 USD	1 EA	8,535.00 USD
		ı				
24 of 33	Humidity Testing Kit (optional)	E-700500- KK/HUM	EA	0.00 USD	0 EA	0.00 USD
		ı				
25 of 33	Air pressure generation system for the generation of compressed air	E-700300-DG- 600-ANL	EA	31,944.00 USD	1 EA	31,944.00 USD
		I				
26 of 33	Air conditioning unit for compressed air	E-700300-ACU	EA	7,675.00 USD	1 EA	7,675.00 USD
		I				
27 of 33	Filter Housing, for filter elements 10" made of stainless steel	E-700600-FI- DEK-10-G	EA	4,059.00 USD	6 EA	24,354.00 USD
		ı				
28 of 33	Pre-Filter Elements 10"	E-700600-FI-	EA	1,613.00	2 EA	3,226.00 USD

	Fax				
Micro fibre Filter Elements 10" for pre-decontamination of exhaust air	E-700600-FI- DEK-10-K	EA	2,516.00 USD	2 EA	5,032.00 USD
	I				
Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air	E-700600-FI- AC-10_K	EA	799.00 USD	2 EA	1,598.00 USD
	I				
Activated Charcoal Filter refillable	E-700600-FI- AC-B	EA	4,281.00 USD	2 EA	8,562.00 USD
	ı				ı
Exhaust Pump flow 160 l/min	E-700600-AP- 160	EA	5,188.00 USD	2 EA	10,376.00 USD
	I				
Installation/Instruction/initial training on-site, including all travel costs	E-999901-12- 07	EA	9,375.00 USD	1 EA	9,375.00 USD
	I				
	air Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air Activated Charcoal Filter refillable Exhaust Pump flow 160 l/min Installation/Instruction/initial training on-site, including all travel	Micro fibre Filter Elements 10" for pre-decontamination of exhaust E-700600-FI-DEK-10-K Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air Activated Charcoal Filter refillable E-700600-FI-AC-B Exhaust Pump flow 160 I/min E-700600-AP-160 Installation/Instruction/initial training on-site, including all travel E-999901-12-	Micro fibre Filter Elements 10" for pre-decontamination of exhaust E-700600-Fl-DEK-10-K Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air Activated Charcoal Filter refillable E-700600-Fl-AC-10_K EA Activated Charcoal Filter refillable E-700600-Fl-AC-B Exhaust Pump flow 160 l/min E-700600-AP-160 Installation/Instruction/initial training on-site, including all travel E-999901-12-EA	Micro fibre Filter Elements 10" for pre-decontamination of exhaust air Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air E-700600-FI-AC-10_K	Micro fibre Filter Elements 10" for pre-decontamination of exhaust air Activated Carbon Filter Elements 10" for pre-decontamination of exhaust air E-700600-FI- DEK-10-K EA 2,516.00 2 EA USD 2 EA 2,516.00 USD 2 EA 3,518.00 USD 2 EA 2,516.00 USD 2 EA 3,518.00 USD 2 EA 2,516.00 USD 3 EA 3,518.00 USD 4 Installation/Instruction/initial training on-site, including all travel 4 E-999901-12- EA 9,375.00 1 EA

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States

591,561.25 USD

Total